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4H| BEY 21.8 18.7 == BE me mR
68| ®Bh 30.0 21.0 =IE BE me |mR
8A| Bh 32.0 29.2 == BE |meE |
10H| =Y 25.3 24.1 =IE BE me mR
128] Bh 11.9 12.3 =IE BE me mR
2B BN | 116 8.0 =B B E2a) EE
4 ERSIEE 3
H DO BOD SS KEEHK
P (mg/) (mg/) | (mg/H | (MPN/100mi)
B &(E] 65~85] 75LLF | 20U | 25LLF | 1000LLF
EHE(75%1E) - 9.1 1.0(0.5) 2 -
48] 77 9.3 0.7 2 -
64 7.7 8.7 2.0 1 —
8A 7.1 15 <0.5 3 —
10A| 70 8.4 05 <1 -
128 74 9.9 15 1 -
28 7.7 11 0.9 1 —
BFEER
NI INESDS & £ ANEvAL | #HME fKER 7L ILKEE
(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
HEAE(E] 001 LT | FE#RHE | 0.01LLF [ 0.05LLF [0.01LLF [ 0.0005ELF
E{E - - - - - - -
afq - - - - - - -
6Al - - - - - - -
8Al - - - - - - -
108 - - - - - - -
12A] - - - - - - -
;| - - - - - -
>ooni = |1,2->7001,1->ona|>X-1,2-o5a]1,1,1-F) -0
PCB 2y ekl Iy IFLY OTFLY oT4y
(mg/l) | (mg/I) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
HEAE(E] ERH 100200 TF ] 0.002LLF | 0.004LLF | 002LLF [ 0.04LLF 1LF
B3] - - - - - - -
7y;] - - - - - -
6Al - - - - - - -
8Al - - - - - - -
108 - - - - - - -
12A] - - - - - - -
;| - - - - - -
11.2-ry4 [FUSaA[FrS4900x1,3-o40n = o te FARUH
aaIsy | TFLY FLY Faxy F I3 Iy %
(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
HE#{E]0.006LLF[0.03LLF| 0.01LLF [ 0.002ELF [0.006 LA F| 0.003LLF | 0.02LLF
B3] - - - - - - -
7y;] - - - - - -
6Al - - - - - - -
gAl - - - - - - -
108 - - - - - - -
12A] - - - - - - -
2A] - - - - - - -




HEBNEREY

(mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
EEME] 001LLF [001LLF| 10UF 0.8LLF 1LLF
—weEl - [ - - - -
47 - - - - -
64 - - - - -
8H - - - - -
10A - - - - -
128 - - - - -
2H - - - - -
EDHIEE
N—~F . TRILLTIL
(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
EEEl - 2.0 0.19 - - - -
48[ - 1.9 0.15 - - - -
6B - 2.3 0.29 - - - -
8H - - - - - - -
108 - 1.8 0.16 - - - -
128 - 2.1 0.16 - - - -
2H - - - - - - -
BiLH HHERYE | VU ; e i s
IT/=| xS coD el > AE EXizER
(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (# S/cm)
F{E - - 2.4 = = = -
48] - - 32 - - - -
6A| - - 3.1 - - - -
sA| - - 2.2 - - - -
10A| - - 20 - - - -
128 - - 1.6 - - - -
28 - - 2.2 - - - -
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4H| BEY 24.4 24.4 == BE me |
68| ®Bh 32.0 21.0 =IE BE me |
8Bl ®Bh 35.0 24.1 =IE BE me |
108 =Y 25.9 25.2 == BE me me
128 BBh 13.7 9.9 =IE BE me |
28] ®Bh 13.6 8.0 == BE ) M
4ERIEEE _
oH DO BOD SS KEEHK
(mg/1) (mg/1) (mg/1) | (MPN/100ml)
RElE| 6.5~85 ] 715LLE 2000F [ 25BLF | 1000BLF
EHIE (75%1E) - 9.4 1.2(1.6) 1 -
48] 77 9.0 1.0 1 -
64 7.6 8.7 1.5 1 —
8A|l 72 7.8 0.5 <1 -
10A] 7.2 8.6 0.6 <1 -
128 76 10 2.1 <1 -
28 7.8 12 1.6 1 —
BEEE
NS INESS & R NS ks |7xukeg
(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
] 0.01LLF | JE4H | 0.01LLF | 0.058LF | 0.01ELF | 0.0005ELF JERH
TiHE - - - - - - -
48 - - - - - - -
68 - - - - - - -
8H - - - - - - -
108 - - - - - - -
128 - - - - - - -
28 - - - - - - -
S II=E. we |12-2900(1,1-S90n(22-1,2-40(1,1,1-k)50
PCB "%, ~| PBEER | " 14y | 'z¥Lr | mzFLy | ozar
(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
EfE] JERH 00200 0.002LLF | 0.004LLF | 0.02LLF | 0.04LLF 1LF
iy - - - - - - -
48 - - - - - - -
6A - - - - - - -
8AH - - - - - - -
108 - - - - - - -
12| - - - - - - -
28 - - - - - - -
11,2-ky4 [FYHOAFRS400x(1,3-90n - Smpate FARUAH
aoxsy | TFLY | FLv | FAxy | TIIL| YDV %)
(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
2 {E10.006 L[ 0.03LLF | 0.01LLF [ 0.002LLF 10.006LLF| 0.003LLF 0.02LLF
Ty - - - - - - -
48 - - - - - - -
6A - - - - - - -
8AH - - - - - - -
108 - - - - - - -
12| - - - - - - -
28 - - - - - - -




HEBEEREY

(mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
EEME] 001LLF [001LLF| 10UF 0.8LLF 1LLF
—weEl - [ - - - -
47 - - - - -
64 - - - - -
8H - - - - -
10H - - - - -
12H - - - - -
2H - - - - -
EDHIEE
N—A~FH RILLT IV
g EER e 2 2HEfH | y00FRLL | TS
(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
ERE - 2.1 0.20 - - - -
48[ - 2.0 0.16 - - - -
6A| - 2.3 0.27 - - - -
8H - - - - - - -
10H - 1.8 0.18 - - - -
12H - 2.3 0.18 - - - -
2H - - - - - -
BiLH HIHERTE | R : e i s
IT/=| ks cobD el > AR BREER
(mg/D) | (mg/I) (mg/1) (mg/1) (mg/1) (BF) (4 S/cm)
F{E - - 2.4 = = - -
4A - - 2.1 - - -
6A| - - 34 - - - -
sA| - - 2.2 - - - -
10R] - - 1.7 - - - -
12A| - - 20 - - - -
28 - - 2.9 - - - -




RIS

BA Pl BRI
th A
(RER) | ER A
—iRIE R
X&_|&SECC)| KECC) | HE#BKE | FiiR 18 BS
4H| BEY 24.9 26.3 == BE me mR
6Bl Bh 32.0 240 == BE |meE |
8Al EBh 36.8 28.8 == BE |meE |
108| HBh 27.8 23.6 =IE BE me mR
128] Bh 12.1 13.4 =IE BE me mR
2A| ®n | 133 80 =B B e me
$RREIER —
oH DO BOD SS KEEHK
(mg/1) (mg/1) (mg/1) _| (MPN/100ml)
EE(E] 65~85] 75LLF | 20U | 25LLF | 1000LLF
EHIE(75%1E) - 9.3 1.21.9) 2 2800
48] 79 9.2 0.9 1 -
68 79 8.8 1.1 1 500
8A| 82 8.0 0.6 1 -
10A] 73 8.9 0.8 3 5000
128 79 10 2.0 1 -
28 8.5 11 1.9 4 —
BEEE
NI INESD S fn ANEvaL | #HME fKER 7IL¥E)LKEE
(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
H#&{E] 001U F | FERE | 001LLF | 00580 F [0.01LLF | 0.0005ELF e
EHfE]  <0.002 <0.1 <0.005 <0.02 <0.001 <0.0005 -
48] <0002 <0.1 <0.005 <0.02 <0.001 <0.0005 -
68| <0.002 <0.1 <0.005 <0.02 <0.001 <0.0005 -
8AH - - - - - - -
108]| <0.002 <0.1 <0.005 <0.02 <0.001 <0.0005 -
128]| <0.002 <0.1 <0.005 <0.02 <0.001 <0.0005 -
27 - - - - - - -
sSoanA .o .. [1.2-570801,1-Ssaa[ 2 X-1,2-55a(1,1,1-F)50
PCB "7, ~| BEERR |\ " 1oy | 'zFLy | mIFLy | nzsy
(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
R ERE [0.02LLTF | 0.002LLF [ 0.004LLF [ 0.02ELF | 0.04LLF 1LLF
T5{E - <0.002 | <0.0002 <0.0004 <0.002 <0.004 <0.01
47 - <0.002 | <0.0002 <0.0004 <0.002 <0.004 <0.01
68 - <0.002 | <0.0002 <0.0004 <0.002 <0.004 <0.01
8Al - - - - - - -
108 - <0.002 | <0.0002 <0.0004 <0.002 <0.004 <0.01
128 - <0.002 | <0.0002 <0.0004 <0.002 <0.004 <0.01
28] - - - - - -
1,1,2-ky4 [RUo0A(Fr54500I(1,3->9an — . —sen FARA
AAT4Y | IFLY | FLY Jaxy | TU7L| YRUY LI
(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
H#{8]0.006LLF]0.03LLF | 0.01LLF | 0.002ELF [0.006 .4 F| 0.003LLF | 0.02LLF
E15fE[ <0.0006 | <0.003 <0.001 <0.0002 | <0.0006 <0.0003 <0.002
4 A <0.0006 | <0.003 <0.001 <0.0002 | <0.0006 <0.0003 <0.002
68| <0.0006 | <0.003 <0.001 <0.0002 | <0.0006 <0.0003 <0.002
8AH - - - - - - -
10A] <0.0006 | <0.003 <0.001 <0.0002 | <0.0006 <0.0003 <0.002
12A| <0.0006 | <0.003 <0.001 <0.0002 | <0.0006 <0.0003 <0.002
24 - - - - - - -




HEBEEREY

(mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
EEME] 001LLF [001LLF| 10UF 0.8LLF 1LLF
EH{E]  <0.001 <0.001 1.6 0.1 <0.1
4H] <o0.001 <0.001 1.6 0.1 <0.1
6A] <0.001 <0.001 1.5 <0.1 <0.1
8H - - - - -
10H] <0.001 <0.001 1.3 0.1 <0.1
12H] <0.001 <0.001 1.8 0.1 <0.1
2H - - - - -
EDHIEE
N SR | 28 @ | 2E® | saofus [T
(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
ERE - .9 0.15 - <0.005 - -
7y:]1 2.1 0.13 - - - -
6A| - 1.9 0.19 - - - -
sA| - - - - <0.005 - -
108 - 14 0.15 - - - -
128 - 2.0 0.14 - - - -
2H - - - - - - -
BiLH HIHERTE | R : = i S
IT/=| xS coD el > AE EXizE=
(mg/D) | (mg/I) (mg/1) (mg/1) (mg/1) (BF) (uS/cm)
EH{E - - 2.9 0.04 - - 240
4R - - 2.8 0.05 - - 200
64 - - 3.2 0.03 - - 240
8A - - 2.7 - - - 200
10H - - 2.7 - - - 320
12H - - 2.2 - - - 260
28 - - 3.9 — — — 240




